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1. Question No.! is compulsery.
2. Aftternpt any Three guestions out of remaining Five questions.
3. Fipures to the right indicate full marks. e
4, Asswume an},»' suitable daia wherever required but ]mtlfy the same. '»‘;?-“
| i
Q.1 | O
a) What is Umtary transform malrix? Explain with example. {3’\ )y .5
b) Explain in short sampling and quantization method for digital u{,gge 5
&) Explain in short morphological operations Dilation and ErDSlﬁﬁ} 5
d) Tustify /contradict: All Image compression techniques are 3,):&1:11131&: 5
| | S
Q.2 a) Explain in detail any two types of Image File meaﬁﬁhr 8
b} For the 3 bit 4x4 size image perform following ﬂP&f’ﬁtlﬂﬂS 12
1) Thresholding T = 3 f«;‘;
i) Intensity level slicing with back[iu;ﬂnd, rn=3andr =5
iif)  Bit plane slicing for M5B and%@ planes
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Q3 a) Perform histogr&m equali ;'almu and draw new equalized histogram of 10
the following imape @a\):g .
Gray Level C{W _ 2 3 o ]2 5 7
No. of pixelss: *.'"i'-m{} 700 11350 | 2400 | 3000 | 1500 | 650 | O
27/ S N WSS . S—, e .
b) Find Hqu{,rjl‘n code for the symbols given below. Which kind of 10
redundajity is removed by Huffinan code? Explain the tenm
f‘umgr.gssmu Ratio.
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Q.5

Q.6

b)

b)

2 QP Code : 31386 R
E*E;':
Using matrix multiplication method calculate 2-D DFT of 10 M}?
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Using the Butterﬂ}r agram, compute Hadamard transform for o LY
*(m=4{1,2,3,4,1,2,12} o '
' ‘ﬁr
What are the different types of redundancies in digital 1mage?ﬂ§§.plmn 10
in detail giving example of each, {%‘i
What is image segmentation? Explain the following mﬂg@ds of image 10
segimentation. i 3
i) Repion growing ~
ii)  Split and Merge ey
A
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Write detail notes on (any fwo} {}i) : 20
Hough Transform :;fﬁ
Homomaorphic filter «E‘:{
Hit or Miss Transform }\""
Chain code _({J.{
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